White: Mark Dennehy (1019) Bodley Cup 2014 (1)
Black: Finn McDonnell (1112) St.Benildus Chess Club
Opening ECO:  A36f 2014.09.24
Result: 0-1
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0 I [ ! I I !
5 10 S 15\ \ \2 25 30 35
75 ]
_10 -
715 -
720 ]
_25 -
730 -
735 ]
_40 |
1 c4 c5 Straight out of book up to this point with a Symmetri-
2 g3 cal English 5.d3 opening. This is my first major decision

Straightforward Tony Kosten approach here +0.00

abhwiN

ees g6
2g2 g7
Ne3 A6
d3

point and I went d3 instead of e4 because Finn led off
with ¢5. e4 might have been playable here, but this felt
more thematic. +0.13

5 eb
6 e3

Thinking about e4 and a Botvinnick setup, but with the



light bishop trapped in on c¢8 and out of a symmetrical
variation to boot, didn’t think this would work. But I
don’t want to play Nf3 and block my light bishop, so I
play e3. -0.13

6 ... Dge7
7 Nge2 0-0
8 0-0 f5

This is as far as I can find in book with Pita-v-Despaigne
(1992) which ended in a draw. In the game though, I
was thinking he’d just opened up his kingside, and that
convinced me to abandon the b4-b5 push plan and revert
to the kingside push instead. +0.39

9 e4

Not great, giving up a tempo to get back to where
I originally thought of going on move 6, and basicly
hoping he’ll push f4 (which he won’t). Skittles room
says d4 was the better move here, and having played it
over, I agree - I missed the exN step in the swap on d4
that could happen here with cxd, Nxd4, NxN, exN, Bxd4,
QxB, probably because I kept seeing the board after e4
for some reason. Bother. +0.06

9 ab

Prepping for b5 maybe? Well, readily countered.

+0.21

10 £e3

Needed to develop the bishop anyway. Wouldn’t
actually want to take on c5, the bishop would wind up a
bit disjointed if I did I think. +0.13

10 b6

Finn obviously thought I would play Bxc5 though!
+0.18

11 fa

And this isn’t all that great. Skittles room says that
with everything locked up on the kingside, this push is
going nowhere, and that’s exactly how it went down. d4
is such a better move here... +0.26

11 dé
12 d4

Hoping for cxd... -0.31

12 fxe4

H N W H 01O N 0

Well, of course. Bother. On the other hand, I own that
e-pawn now... -0.20

13 ds?!

Oddly, the skittles room thought this was fine, but
stockfish much prefers a straight dxc exchange here.
-1.15/-0.20

H N W H 01O N 0

13 dxc5 Df5 14 £f2 bxc5 15 Hxe4 Eb8 16 Eb1 £b7
17 g5 Ee8 18 Hel Wc8 19 b3 Hed4 20 Hxd4 S 1xd4 21
£ xb7 Exb7 22 b4 We6 23 bxe5 Exbl 24 Wxbl Wxc5=

13
14

exd5

cxd5 Nfs5

H N W A~ 01O N 0

Oh, feck. Well, this put the boot into all my plans here.
Post-game analysis says it’s not the end of the line, but it
certainly gives things a shove towards the end... -0.54



15 wd22?!

Now this is odd. Skittles room and myself both agree
on Qd2 as the best move and Bf2 as being too passive,
but stockfish goes in the exact opposite direction... -1.35
/ -0.54

H N W H 01O N 0

18...b5 19 Hael b4 20 Hd1 £d7 21 Hxd4 £xd4+ 22
Nf2 b5 23 We2 & xfl 24 Hxf1 Hae8 25 g2 Wg7 26
Hd3 Wd7 27 ¥hl He7 28 Nf2 Hfe8 29 ©g2 &xf2F

H N W s~ 01O N 0

19 Bael

Saw Bg4 a move or so back, this was the best response
I could think of. -1.83

15 &f2 Hed4 16 Dxed Dxe2+ 17 Wxe2 H1d4 18 Wd2

Ha7 19 Efel Be7 20 Ee3 £f5 21 Hael 19 - Fae8

15 e Hxe3
16 Wxe3 Hd4

All this was as expected after Nd5 -1.80

17 £ xe4 We7

First move in a while that was a surprise. -1.86

H ON W A~ 01O N

18 Wd3

H N W A~ 01O N

Trying to cover all three minor pieces and feeling a bit

on the back foot here. -2.21 Skittles room picks this out as the mistake that lost the
piece, which is what lead to the loss of the game... -2.75

/-1.17
18 Lg4?! 20 Hixd4 &xd4+ 21 g2 Wd7 22 &hl b5 23 £g2

£f5 24 Wd2 Ef7 25 Exe8+ Wxe8 26 Eel He7 27 Exe7
And again, stockfish and the skittles room differ Wxe7 28 a3 &f7 29 £f3 £e3 30 We2 ¢4 31 ¥g2 £d3
completely! -1.14 / -2.21 32 Wel £d4 33 Wd2 £b6



20

£ xe2?!F

H N W A~ 01O N 0

-1.89 / -2.75

20...b5 21 ¥g2 b4 22 H\xd4 £xd4 23 Hd1 £xd1 24
Wydl &xf2 25 &xf2F

21 Dxe22?—+

But stockfish picks out this point as the blunder.
Interesting... Either way though, the game’s now dead,
it’s just going through the motions from here on out.
-6.79 / -1.89

HON W A 01O N

21 Bfxe2 Hixe2+ 22 HExe2 £d4+ 23 Yg2 W6 24 a4
Weo7 25 &£hl He7 26 Hel Hfe8 27 g2 Hf8 28 He2 T

21 .. Wy eq
22 Wyeq Exeq
23 &f1 Hfe8
24 b3

H N W A~ 01O N

24 Dxe2?—+

Yeah, I can see what stockfish means here, but by this
point, it’s a bit academic. -4.53 / -7.31
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24...9c2 25 Hcl He3+ 26 gl Dg4 27 Hc2 Hixf2 28
L xf2 £f7 29 &£f1 b5 30 Lel a5 31 &d1 a4 32 Ed2 b4
33 bxa4 a8 34 gl Ee3 35 ©Hh3 h6 36 5 gxf5 37 Ef2
Exa4 38 Exf5+ L¥e8—+

25 Bfxe2 Bxe2
26 Bxe2 Bxe2
27 Hxe2

And it’s a formality from here on in. To be honest, if
this wasn’t the Bodley I'd have resigned by now, but in
the Bodley, you play the endgames out... -4.81

27 ... &f7
28 e3 £d4+
29 Leq &6
30 h3 h5

31 g4 hxg4
32 hxg4 g5

33 b4 gxf4
34 bxc5 bxc5

And by now it’s just not worth going on, it’s obviously
just dead. -53.98

H N W s~ 01O N 0

0-1




